1% #5'% B 1

18 B SfMm3E7H26H0 (H) :00~16:45
2 £ 5 RGTHRAEE

3 BE&A ST "‘B E IHEEZ (EXHE)

ﬁﬂi’i B EELE (RABRDESE)

£ ¥ E REREEE B+ - BEEEE R (RRERGE)
REREE R 7« R AL T (R S)

EMEEERE v x (5

EMZEFA =ERMOORA) - /MIEK (eEE) - THESET (KE)
AR EARSE (BEBE) - s (EK)

£ ¥ B RoIR AR g 2 H B

B £% HAy (BES) - fAREARSE

£ 15 B2 &% HA L « HPED 2 () - @f%ﬁé%(ng)
FHLE - (B RKD) « FHHET UMEX) - (L g (B KHHE)
B <A (EY) - Il AR (ER) - SRR (BExE)

£ B =FERW - AEKR
=15 X1t AR LT (UHE) - AR JEK)
z 5 EERELGFHED) - aREsCEER)
# & kAL GuR) - KmE Q) - R+ GaR&Rm)
= i MTHEET - SR A 7 (Ba) - REEE GRE)
1% 0 i 3R R CRIRIR) - E k=] (B - PaARRIE (BIE) - 1hAkESE (i)
£ ¥ PR (R S) - A (@A)
i 1T AFPRFE (FES)
A& E EHETEE (200)
4 HEBE
[ 9 [ 10 [ 1 [ 12 [ 13 [ 14 [ 15 | 16 ]
(O 10 20 30 40 50 () 10 20 30 40 50 () 10 20 30 40 50 () 10 20 30 40 50 () 10 20 30 40 50 () 10 20 30 40 50 () 10 20 30 40 50 () 10 20 30 40 50
| I P | L1 1 1T T 1T it rrrrrrrrrrrrr i1 1 1T 11T LI T T T T T T 11
& h
#| |BTIM BF 15 i
=wE %5 7A<
B4 =
2 = pritid | |
7 & 15
s || =F18E ZFI1E || &xF2u|| H=F2 &
it mE %5 mE k5 5
=
9:00 ~ 9:20 B -HELHE
(9:00 ~ 9:30) B%xI7)—7vy7(FEFKEHLLY)
9:35 ~ 10:23 BF1UHE(U—7v)
ZF1HEE (1290—T—x 47 H)
10:30 ~ 10:40 EHIE
10:40 ~ 12:10 BF1¥EH
10:40 ~ 11:55 ZF1VHH
12:00 ~ 12:48 ZHF2UHE (12550—T7—x47&H)
12:55 ~ 14:10 ZF2HEk
14:15 ~ 15:00 KD+
15:00 ~ 15:20 X¥
15:20 ~ AMREHZERK - ERE



5 FHlHwm

OBF&EY BIEHR: BEFK
# B D1-E1 D2-E2 E3 RIGECER
(R KA FHHE NN f #  |BeEza@s|BEIA Rades
HAE EREE "k—& BEEKR |BEEFEF(EHE)
B B INIIR R R FHiE A it |FUBEF@EXM|[EE]E EAR
% B RXK—% ZREE BEEESEIN | WrhstAm(RKHIE)
O%FEH TFEHR EBAET
# B D1-E1 D2-E2 E3 E3 Eir oA
% 5B SESEAS! IRAIRF HFEEFUMER) ([ E114
BOELVEATHE|  JIAYE FligasE BINEKF  |[EO<HER) (B4
FHa BAZEF | REBET | MHEET [s5g7@Ecd|[FE114
® p | #EEE | REET | RATH |uraer@s)| b al

6 HAEHLERWERIE

OBF
3|8 A, AREICE Y I EE AL
P (FK) -FEELEEN) | 4] 2] Eis
1 =1 1] 2]3]4
EXME-EH-EREG-EFG-HE 5 ‘ﬁi 10:40
1 = ~
L2 . i === k4 1 12:10
) Z2EHE-RS5E--AF-KH| (5| mg P P
K- 1% TR PR -wE| 5| SEF
O&F
3| 18 SR, AREAEE G o A
1 FaiE Lk (EA) 4| Eis | 1 2 | 3| 4
2| BE-BHE-MER-BE| |4 S| 4| 1| 2| 3 1040
1 ~
3 FRE - B B 3| HE | 3| 4| 1| 2 11:55
4| HE-ERE-IEFER 3|l ®wB | 2 | 3| 4| 1
1 Biz=+F (FH{K) 4l | EEE| 1 2 | 3| 4
2 L& (FYR) 3 EHE| 4 1 2 3 [12:55
2 ~
3 AR (FE) 3 x4 | 3 1 2 14:10
4 7958 (F{K) 4 R | 2| 3| 4| 1




